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o = (mm) (ci) | (kg/m) | (mm) 2m 3m (cm®) (cm) (cni)
(KBRS b | 0.8 | 5064 | 4.1 500 | 8.2 123 | 463 | 095 | 2.01
W/ \UF Tk
B Ex Hig g | AR | SO F R SO FiE N FEE | BEALTAE | BSLE R ER| W Rk
i k2 (mm) (m) (kg) (mm) (mi) (mm) (mm) () (m) (%) (cni)
t L B |S-L-B Ao=A*Po |P=AofS | C Z
% O OF B | 1.2 2 100 | 500 | 1.00 | 1600 | 286 | 0.456 | 0.241 | 24.1 | 0.987 | 2.94
TIVENFLT 10 3 14.8 | 500 | 1.50 | 2600 | 286 | 0.743 | 0.392 | 26.1 | 0.960 | 2.94

i 1) F 10, EvF23.0, FLE13ET % (b=12X23.0+10=286) 2) /N> FEHHDRIFLEP0=52.7%
3) VIC/N IV %51 Co=1.3ELTC=Cox(100-P)/100)
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% BH 5 BEAR R B 7 7 v R 63*2M 2000 630 5.4
{5 PR 5 BEAR B B 7 5 v R 63*3M 3000 630 8.1
R T REMRE &= 7 7 v R63*2M&fF | 2000 630 5.6
{PHEE7 7y MNERT2M (F-1 2) 2000 630 22.3
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